
Testing for Sampling of Processed Commodities - Questions
1
The maximum lot size for dry corn, oat, rice, soybean, sorghum and wheat 

products are: _____________________________.

(a) one railcar

(b) 500,000 lbs

(c) 150,000 lbs

(d) 150,000 primary containers
2
The number of containers sampled for a lot of dry corn products where the lot 

size equals: 

a.)  42,000 lbs _____________, 

b.) 150,000 lbs  ____________, 

c.) 250,000 lbs ____________.
3
Immediately after obtaining a sample portion, visually examine it for uniformity 

in quality before adding it to the composite sample

(a) True

(b) False
4
For an online inspection the time interval between subsamples equals:

(a) 15 minutes

(b) Once an hour.

(c) The average time to produce the lot divided by the number of 

subsamples.

(d) 5 minutes
5
If the entire lot is not accessible to perform the service requested or the lot is 

stacked in a manner that does not provide a safe area to perform the service 

and is not corrected, the sampler must advise the applicant that:

(a) Next time the lot must be more accessible.

(b) The requested inspection cannot be performed or a partial 

inspection will be performed.

(c)  A higher fee is charged.

(d) He can get done faster.
6
In order for a sample to be considered representative, it must be:

(a) Obtained by official personnel in accordance with official procedures;

(b) Obtained using FGIS approved equipment
(c) Of the prescribed size; and handled securely and protected from manipulation, substitution, and careless handling.

(d) All of the above.
7
a.___________________ is the inspection of a lot as the lot is being produced.
 b.___________________ is the inspection of a finished lot when all the containers are stacked in a stationary place (warehouse floor, etc.) or loaded into a carrier.
8
Approved sampling devices for processed commodities included:

(a) Ladle

(b) Bag trier

(c) D/T sampler

(d) All of the above.
9
Distinctly different subsamples should be composited with the main sample and

 mixed thoroughly.

(a) True

(b) False
10
For a stationary-lot inspection the amount of each subsample equals:
(a) Total quantity of sample needed divided by the number of subsamples required which is based on the size of the lot.

(b) One bag.

(c) One ladle full or one probe per number of subsamples.

(d) As much as can be removed without the bag being 
